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QUESTION 1

The eSight failover (configuring automate migration) function implements failover of devices associated with profiles and
provides backup for key devices.

A. TRUE
B. FALSE

Correct Answer: A

QUESTION 2

Which of the following options are included on the Alarm Settings page of OperationCenter? (Multiple Choice)
A. Alarm Masking

B. Alarm Severity Redefinition

C. Alarm Notification

D. Alarm Transfer to Work Order

Correct Answer. ABC

QUESTION 3

Which of the following statements about RPO is incorrect?
A. RPO is short for recovery point objective.

B. RPO is measured based on data;

C. RPO is the time taken to recover data;

D. In theory, the shorter the RPO is, the better.

Correct Answer: C

QUESTION 4

With the host memory overcommitment function enabled, the host can provide more memory resources for VMs than its
configured physical memory.

A. TRUE
B. FALSE

Correct Answer: A
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QUESTION 5

Which of the following is not a problem in the IT support process of the traditional IT architecture?

A. Requirements are transferred through documents, which lacks communication.

B. The testing automation level is low, quality control and assurance are not complete, and the feedback is slow.

C. Manual OandM is tedious, complicated, and error-prone. There may be a large number of faults, and the operation
duration is long.

D. The IT staff turnover rate is high, and skills are hard to transfer.

Correct Answer: D
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